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)و ������� ا����د��  ) 0f x   ��ℝ ا����ل  �α%�: /9 و/��ا  =

  


�� : �(��� أن �?
1

1
2

α< <  

�1��1  6��� fا��ا��  �
,1

2

 
  

 

� ( )1
1 0

2
f f
 × < 
 

 ⇒ 
( )

1 1

2 4

1 5

f

f

 −  =  
 

 =

 

:  ��(�G
1إذن /DE ��1ھ(� ا�%�< ا�
1

2
α< <  

 

  

 �
� ا��������6:  

  

���� ا��ا��  
g  6�� ����]ا�� ],a b   : ��� ��� ( ) ( )g x f x bx= −  

]���1  6��� gا��ا��   ],a b  6�� ������1 ع دا����
���8 )[ ],a b  ت��(�دا�� ��د�� �1���  DE/  :f ا��

]��6 ��1ل  ],a b               وx bx−a  6�� ����1ℝ  6�� ص
�R���[ ],a b (  

 �)���( ) ( )g a f a ba= )و ��� أن  − )f a ab<  نI�( ) 0f a ab− <  V)1 و( ) 0g a < 

 �)���( ) ( ) 2g b f b b= )و ��� أن  − ) 2f b b>  نI�( ) 2
0f b b− >  V)1 و( ) 0g b >  

)إذن  ) ( ) 0g a g b× <  

 �5
� :  ��(�G
]c  �1و ������� /DE ��1ھ(� ا�%�< ا� ],a b  3�&�( ) 0g c =  

 �5
� V)1 وc  �1[ ],a b  3�&�( ) 0f c bc− =  

 �5
]c  �1أي � ],a b  3�&�( )f c bc=  

 

  :�7�&�] ا������ 

1.  PQ
3
: 2 1f x x x+ −a 

3أوY : �(��� أن ا����د�� 
2 1 0x x+ −  ��ℝ ا����ل  �α%�: /9 و/��ا   =

 �ℝ��1  6��� fا��ا��  �

 ��.ℝ�� ��A9%�ق ��6 ا����ل  fا��ا��  �

 ����x ∈ℝ   :( ) ( )3 2
' 2 1 ' 6 1f x x x x= + − = +  

)إذن :         ) ( )' ' 0x f x∀ ∈ >ℝ  

�� fإذن ا��ا��        (. ���  �ℝ�X�  6ا�
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�    DE&)�( )f ℝ    :( ) ] [( ) ( ) ( ) ] [, lim , lim ,
x x

f f f x f x
→−∞ →+∞

 = −∞ +∞ = = −∞ +∞ =
 

ℝ ℝ  إذن( )0 f∈ ℝ   

)و ������� ا����د��  ) 0f x   ��ℝ ا����ل  �α%�: /9 و/��ا  =

  

0?�
�� : �(��� أن  1α< <  

]���1  6��� fا��ا��  � ]0,1 

� ( ) ( )0 1 0f f× < ⇒ 
( )
( )
0 1

1 2

f

f

= −
 =

 

:  ��(�G
0 إذن /DE ��1ھ(� ا�%�< ا� 1α< <  

  

  

�رس إ�Aرة  ا��ا��  .2)�f : 

x: إذا �8ن 1ا�&���  α≤   

��(� ا��ا�� �f  6�� ��(. ���)إذن  X�ℝا� ) ( )f x f α≤  V)1 و( ) 0f x ≤   

 )α   د������� :/( ) 0f x )إذن  = ) 0f α =  (  

x: إذا �8ن 2ا�&���  α≥  

��(� ا��ا��  �f  6�� ��(. ���)إذن  X�ℝا� ) ( )f x f α≥  V)1 و( ) 0f x ≥
 

 

  

 �
� ا��������8: 

  

1.   �)���( ) ( ) ( ) ( ) ( )0 sin 0 2cos 0 0 2 1 2g = + = + × )إذن    = )0 0g > 

  �)���( ) ( )sin 2cos 1 2 0 1
2 2 2

g
π π π     = + = + × =     
     

1إذن    
2

g
π  < 
 

 

)أن ا����د��  �(���  .2 )g x x=  6 ا;.: �� ا����ل��0%�: /9 �,
2

π 
  

 

���� ا��ا�� 
h  6�� ����,0ا��
2

π 
  

  : ��� ���( ) ( )h x g x x= −  

,�0��1  6��� hا��ا��   �
2

π 
  

0( ���8
ع دا���� �1����� ��6  ,
2

π 
  

 ( 

� ( )0 0
2

h h
π × < 
 

 ⇒ 
( ) ( )0 0 0

1 0
2 2 2 2

h g

h g
π π π π

 = >

    = − < − <   
   

 

)إذن /DE ��1ھ(� ا�%�< ا�
�G)�� : ا����د��  ) 0h x ,�0%�: /9 ��6 ا;.: �� ا����ل  =
2

π 
  
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)و V)1 ا����د��  )g x x=  6 ا;.: �� ا����ل��0%�: /9 �,
2

π 
   

 

 

 �
� ا��������9: 

  

1( ( ) ( ) ( )3 1 1 3
1 4 1 3 1 4 3

2 2 2
f

−− = − − − − = − + − = 

3

1 1 1 1 1 3 1 1 3 1 1
4 3 4

2 2 2 2 8 2 2 2 2 2 2
f

− − − − −       = − − = + − = + − =       
       

 

( ) ( ) ( )3 1 1
0 4 0 3 0

2 2
f = − − = −  

( ) ( ) ( )3 1 1 1
1 4 1 3 1 4 3

2 2 2
f = − − = − − =  

2(   

�11��� ��f  6ا��ا�� �
1,

2

 − −  
)و   ) 1

1 0
2

f f
− − × < 

 
إذن /DE ��1ھ(� ا�%�< ا�
�G)�� ا����د��  

( ) 0f x �1%�: /9 ��6 ا;.: ��   =
1,

2

 − −  
 

�11��� ��f  6ا��ا�� �
,0

2

 −  
)و   )1

0 0
2

f f
− × < 

 
إذن /DE ��1ھ(� ا�%�< ا�
�G)�� ا����د��  

( ) 0f x �1%�: /9 ��6 ا;.: ��   =
,0

2

 −  
 

]�1��� ��f  6ا��ا�� � )و  0,1[ ) ( )0 1 0f f× )إذن /DE ��1ھ(� ا�%�< ا�
�G)�� ا����د��  > ) 0f x = 

]�%�: /9 ��6 ا;.: ��   ]0,1 

�  : �L9M د����)ا�� ) 0f x ]�%�: ��6 ا;.: ?9?� /�
ل �� ا����ل  = ]1;1− 

 

  

 �
� ا��������10:  

  

���� ا��ا�� 
g  6�� ����]ا�� ],a b   : ��� ��� ( ) ( )g x f x x= −  

]���1  6��� gا��ا��  � ],a b   6�� ������1 ع دا����
���8 )[ ],a b ( 

]دا�� 1���� ���f  �1 أن  � ];a b  
&
[ ];a b  نI� ( ) [ ];f a a b∈  و( ) [ ];f b a b∈  

 V)1 و( )a f a≤  و( )f b b≤   أي( ) 0f a a− )و  ≤ ) 0f b b− )إذن  ≥ ) 0g a )و  ≤ ) 0g b ≤  

)و ������� :  ) ( ) 0g a g b× ≤  
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) إذن /DE ��1ھ(� ا�%�< ا�
�G)��  : ا����د��  ) 0g x ]�%�: /9 ��6 ا;.: �� ا����ل  = ];a b   

) و ������� : ا����د��  )f x x=  6 ا;.: �� ا����ل�9 �/ :�%�[ ];a b .  

 

 

つづく 

  


